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SR ET 42 45 50 95( £ 2 EHET 97 130 160 290| 3K 52 44 55 99|15 T ET 33 50 56 106 |75 #7 {RET 35 63 58 121
FEET 86 96 97 193 42K BT 24 45 32 77| = HET 658 982 995 1,977 {8 IE 3FHT 23 32 44 76 |fEF2E AT 15 24 27 51
FERTET 90 109 123 232| % HHET 31 36 48 84| AHT 76 123 114 237 #8 TUBT 82 102 105 207 |+ & EET 16 24 23 47
REHRT 48 49 55 104| & BHET 53 74 70 144 (KT HAET 84 121 128 249 EATHT 257 335 367 702 | & HET 41 50 62 112
A RIFHE 299 395 386 781 (1222 HET 226| 293 290 583|#H—T B 81 97 116 213 (& /T 62 74 66 140 | ZF$TRET 58 78 81 159
J\B THEr 14 17 17 34 (9 BT 98 143 148 291 |8 =TH 100 112 137 249 | th BLET 123 129 133 262 |25 HET 33 62 63 125
Pef=l) 21 25 41 66| 7KEET 74 93 96 189|EH=TH 107 105 147 252 | fEALET 532 657 617 1,274 K BHT 63 80 94 174
et 26 36 42 78|f@HT AT 16 26 21 47|EHET B 165 211 247 458 | H B HET 64 79 96 175| & tE & BT 22 32 51 83
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AT 84 89 93 182|128 Bm—TH 195 253 260 513|RLAEX 11 12 9 21| RBME 126 158 154 312| R AHT 44 69 64 133
H=FHET 25 25 30 55({BB TR 78 110 108 218|#TR—TH 193 256 291 547 |FEIETX 154 207 217 424 ILEE—TH 65 78 94 172
EVANWE S 476 549 591 1,140\ B)IHX &t 1,732 2,269 2,217| 4486(HE=-TH 209 263 273 536 | #E AT X 76 99 99 198(ILSEE=TH 91 123 129 252
BIN\YER 122 118 149 267| FHAEFET 88 127 124 251 |H=TH 184 253 263 516 =s=fT 186 213 230 443 \LEE=TH 95 126 126 252
B/INYERR 296 370 386 756 S AT AT 66 92 90 182 (TR 169 273 270 543 FEA—TH 61 79 86 165|ILSEMTHE 113 120 134 254
I\ R BT 225| 214 240 454/ /> £ BT 22 34 31 65(F—TH 149 179 191 30[FEEA=TH 135 160 199 359(ILEERTH 88 132 135 267
#EET 490 634 686 1,320 £ AR EFET 64 85 80 165(FF=—TH 234 326 347 673| £ EHAT 102 140 119 259|ILBEAARTH 112 153 161 314
R T 20 17 19 36| A EFET 69 88 83 171 | AL BT 95 107 125 232|XDE—TH 11 16 16 R2|WSHX 5t 1,067| 1,454 1577 3,031
AT 12 16 14 30| 0T § 309 426 408 834|dt=ABE—TH 124 181 214 395|DE=TH 96 158 140 298| FREFE—TH 152 178 195 373
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JBHET 107 115 104 219| % FEET 214 254 280 534 | fESLHT 216 267 301 568 | EHAHT 202 263 260 523 FREFRMETH 166 205 209 414
FAARHET 444 585 594  1,179|dt BT 71 85 106 191| AKX 103 135 143 278| E=O#T 53 73 82 155| FRERAETH 150 185 170 355
Elei:P 106 99 130 229 | FAI5RBE S BT 15 25 19 44(FRAENIIR 54 67 84 151 |4 /T 99 124 129 253| FREREATH 168 217 233 450
tHEA2K 194| 244|249 493| K SET 25 43 39 82[;EAIX 54 82 83 165 | A EHET 205 305 321 626 FREFA—TH 130 169 159 328
JLHEARIX 65 49 81 130 LR 73 62 90 152 |#8J11 #7 8T 111 160 160 320 |$A ALAT 33 58 53 M| FREBE_TH 139 178 177 355
R4 189 274 263 537|%M#H—TH 138 187 187 374 | FHHET 21 31 37 68| Z ALET 81 105 121 226| FREB=TH 137 183 195 378
JLHEARSX 356 428 454 882 | LRIMIX &t 770 964| 1,068 2,032|fHFMIX 5 559 742 808 1,550 | &1l BT 143 159 175 3| FREBETHE 99 121 141 262
AR 205 253 229 482| = {RET 126 148 185 333| =K AT 517 702 639 1,341 | B R AT 55 90 95 185| FREFEETH 134 153 150 303
BRBE-TH 151 160 174 334| LAIRX 9 10 14 24| &= sk T ET 456 591 572 1,163 | E H#h BT 17 26 32 58| FREFENTH 141 176 188 364
=#=E—TH 87 113 106 219|EEX 1 14 15 29|fEHEET 47 73 72 145|#91F—TH 92 121 117 238| FREBBLTH 173 213 245 458
E=E-TH 105 108 138 246 (FHX 1 13 13 26 = sk #ET 75 89 110 199(#FIEF=TH 54 73 69 12| FREE/NTHE 115 126 144 270
ZE=TH 102 119 140 259 [EALET 37 50 62 112 | s TR ET 40 57 53 110|#91E=TH 66 92 99 191|FREFE—TH 107 147 155 302
fAm—TH 99 112 115 227 | ERET 27 34 30 64|/\HFE] 51 68 79 147|#F1FMTH 102 132 128 260| FREm_TH 145 199 191 390
Hm=TH 117 146 187 333|/I7 1 ET 40 50 65 115|/\EHT 130 173 186 359(AFIFHETH 68 94 90 184| FHEHIX 5t | 2203 2,764 2,841 5,605
55—TH 7 90 91 181| L/ IIET 42 43 62 105 —1RET 69 74 74 148|#FIEFATH 68 73 85 158 | #HET 110 129 144 273
BiE-TH 138 187 163 350 | & HHAT 33 39 51 90| & ERET 160 201 223 424|BR—TH 99 141 131 272| BRAHAT 105 11 120 231
Z*E—TH 134 137 147 284| = {RFTET 105 151 146 297|REAMR 393 531 502 1,033|#EK_—TH 58 67 Al 138 | Fa+alT 99 127 118 245
X*EZ-TH 101 134 141 275|HAESEX 90 116 115 231 | EAHRX 199 253 243 496 | McpithX 5t 1,495| 1.996| 2,058 4,054|FEH—TE 112 137 128 265
KRILE—TH 159 172 207 379| = RET 68 101 88 189 [fRE AR 113 145 138 283 | HTHT 417 536 503 1,039(FH=-THE 81 86 93 179
KEZTH 92 99 91 190| BRIX &t 599 769 846 1,615 —1F#HKX 211 274 236 510| FEHT 133 179 171 350(FEH=TH 65 80 85 165
€5 —TH 68 79 77 156 | = LET 145 215 223 438|HIVHESE—TH 74 99 103 202 |F4EFHET 324 413 380 793 | =R EFET 58 77 74 151
#H%-TH 64 72 76 148 | KK BT 90 129 133 262|HSVHEE=TH 127 157 164 321|H R HET 366 555 500| 1,055 EREFAT 100 117 111 228
BH=TH 21 34 31 65| E X 115 146 177 323 |HEVHE=TH 77 100 107 207|4BitIX & 1,240 1,683| 1,554| 3,237|FEREHT 78 94 97 191
BXx—TH 132 176 201 77| FHAR—TH 136 96 155 251|HIVEEMET B 121 165 143 308 BmERH—TH 67 80 80 160
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BXtTH 13 136 151 287|FHHHE 53 67 76 143 NESiCIE 27,465 35,106| 36,421 71,527
BRNTH 133 176 192 368 | F HAEME 53 74 57 131
BHAATH 1 1 4 5|# FEX 203 261 290 551
BX+TH 18 18 14 32| —AHIX 5t 1,060| 1,348 1,479| 2827
HAR—TH 22 23 27 50
HWAZTH 93 140 138 278
#HA=TH 121 196 197 393
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EIELE 35 36 44 80|/ \#EHET 137 170 201 371 3R R BT 120 159 170 329 AT AT fE 43 55 76 131 |IE#AET 43 61 67 128
EJNNEE 149 201 219 420| == HT 49 72 73 145 R 3R FLET 226 243 273 516 A N ETTE 46 48 52 100 | #AAZHET 23 34 37 71
EJNEE ) 34 49 54 103| = LLET 215 284 316 600 | & & ET 276 416 423 839 [SA] N BT 4@ ] 109 137 158 295|773— /L& 30 46 41 87
EJNLT:E 127 154 168 322| R S HT 46 70 73 143|88%—TH 120 165 147 312 NATEYDE 53 68 65 133 (AT & HT 58 76 89 165
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E)IKAETE 50 64 59 123|885k ABT—TH 30 4 46 87|BAXIMTH 193 265 265 530 AT BT A £R 20 24 39 63| FTH&E 23 20 31 51
ENIKRETR 26 26 33 59|88k ABT—TH 31 33 46 19(BHEX=TH 108 126 134 260 |3 N ATIR £ 9 9 12 21| ELHE 21 28 30 58
EJNE3:r:) 35 27 47 T4|BBEABT=T B 39 57 74 131 | M FET 159 229 249 478 | AN ETHR B 16 17 17 34| B = ET 59 71 86 157
EIISHE 152 184 218 402|EBRARTET B 194 253 261 514| % S HT 166 231 243 474 (AT N ET £ R 7 5 4 = 15 22 21 43
EJLECE ] 47 43 56 99 (#5kEA B AT 159 187 207 394\ FE—TH 78 123 11 234 RAINET T4 5 5 2 7|42 FRET 46 49 42 91
=11 #ERTR 70 96 98 194 | B8R E IR AT 110 17 133 250|F5HE-TH 13 15 13 28 FAINETNE 20 20 19 39| % FEKAT 26 29 38 67
=JIRETE 89 91 117 208 |#B 3k - 3RHET 30 33 39 72| B EFET 105 152 153 305|AMIE § 410 486 542 1,028 |i&:2HET 14 15 21 36
=£)IERTE 109 134 138 272| %8k T ERET 28 33 38 71| B Er FRET 82 97 103 200( F&H%H 68 88 93 181 | ZE Ry 16 10 12 22
EJNE N 35 42 48 90 (#83k B EEHT 35 50 42 92| &R A EET 98 116 112 228| EEH 98 97 110 207 | =V #ART 4 4 3 7
EJIENIES 85 72 90 162 | £53F &0 <F BT 169 199 230 429| = ST 333| 429 431 860 | BRE DB 55 74 70 144 | 45 3RET 3 3 2 5
ENFRETE 201 282 286 568 |5 T AT 79 95 118 213 | FED A B RT 33 42 36 18ER 19 31 32 63| B -HT 7 5 6 11
I F0RETR 246 269 301 570 |#53F K F BT 33 32 39 71 (MX F 2465 3,338 3392 6,730| AFIE 8 2 6 8| H+4HT 0 0 0 0
F)IMX &t 1,643 1,935| 2,164 4,099 %83k K EHET 200 240 244 484 | B =BT 182 258 277 535 |#EIK 34 25 34 59 | [ BT 2 2 0 2
REAT 297 387| 445 832|#B 3k K E F5 #T 104 175 171 346| 3 OHT 136 175 210 385(M/R 34 47 45 92| Epih AT 0 0 0 0
FHERET 286 332 353 685|E8kKFET_TH 8 8 11 19 K ¥rET Al 95 97 192| FARi# 22 31 40 71|%8;EHET 20 25 43 68
FESET 41 59 58 17|88k KFET=TH 66 83 96 179 |BA% S BT 22 28 33 61| LA:E 22 25 22 47| EKET 43 51 60 111
RIEET 53 86 72 158 |#BSRAKFETEE T B 31 35 35 70|4THT 75 114 120 234| KiBH 11 13 13 26| FEAHET 63 83 95 178
FEKSET 147 219 212 431|#B3k B HHET 30 41 45 86| b /4ERET 42 63 69 132 E 44 40 47 87| EEAHET 42 53 60 113
E ST 288 380 393 773 | BRI &t 1,568 1,927| 2,104 4031|RBEFE 58 73 71 144 S8 B 5t 415 473 512 985 | F{k R AT 31 45 45 90
SEthET 73 98 102 200| A 15HET 234 326 352 678 |-CRET 58 63 78 141 =R HHET 55 74 100 174
Boyiliy 260 320 337 657 |/INTET 201 257 279 536 | £ AHT 23 30 32 62 A SR LT 49 61 Al 132
HEHAT 312 409 441 850(BAE—TH 158 201 192 393| BRI E it 325 406 432 838 [IN:Toa 32 5 5 6 11
E3=E i) 11 11 15 26 /INUIERTET 103 114 141 255 | RETHET 158 193 228 421 TASHE 19 25 16 4
BT 133 218 210 428| B {iFHT 275 370 411 781 | B8k 2 BHET 204 252 268 520 Sidithisi 5 938| 1,208| 1,341 2,549
EETR 121 190 209 399 (BA B HTIL/FE 46 52 63 115 [REEFTET 158 208 205 413 = 51 54 58 112
BT+ 121 201 191 392 | SHETE /K 24 32 34 66 | o/ SEhER BT 10 17 15 32 e 4 2 3 5
IREX  F 2,143| 2,910| 3038 5948|BABHEThAf 43 68 70 138| 3 O #HHET 57 95 91 186 HE 84 7 96 167
EEX 48 62 63 125|83 SETEG /44 40 48 55 103 |4 A FRET 161 235 231 466 ZR 32 22 41 63
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RET8 X 88 94 11 205 | Fx SHT 257 324 322 646 3 80 88 87 175
EEOX 110 11 120 231 | SHT 139 177 189 366 THER 0 0 0 0
ERT10X 237 285 329 614|Fa% BHET 29 43 42 85 BIgits 5 339| 401 423 824
EE1R 0 0 0 0| H 75 SHT 55 92 89 181

ERT12K 164 261 253 514K 5 2278 3032| 3126| 6,158
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=) 5t 4905 6,211| 6,690 12901




